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A Torah secondary Tum’oh — RPSOMINT SIRAY T

OVERVIEW

wp? w1 explained that in the case of 7"onn the W2 was Xnwl by a  axmw TN
XN»71X7, so 2"7 cannot derive his ruling [by 7m0 which is 770X only 112777] from
"on, but rather 1" derives his ruling from the ‘words’ of 21¥°%& 'Y and yw ™.
moon discusses what "1 meant by saying Xn»7K7 IR2IW 790

Mmoo anticipates a difficulty
- INDMIINT SWIIY INIUN RKY TYWIDY W9 NIIN 139109997 NN
Here, where we are establishing the 7i1wn according to ' we do not find that

there can be a RNMMIRTH SWIW -
= DOIN N1VMI JIIN PN INT INNIY

According to the one who maintains %218 X% 9218 PN -
- 2NN NODIN INMY 19294 33W 91 INY PPYM 7 Y NN

Unless it became a *w°5w through touching "1w Ppwm, but then the w2 will be a
112977 3w (since 720N NPAY PRYR Rpvn 91000 DX 017 92), so what addition is

there when this "wa (which is a 731277 ") touches the 921X which is a PWwxA, since all it will
become is a 1312771 W again (since RN™IIRTA DR RV PIR PR)?

mooIn responds:
- ‘w91 9919 YoIan Yot 1P2TY D93 NI RIT 9990 TP

So it will be necessary to assume that as of yet (the time frame attested to by
7"om), the o°non did not issue the decree that 21571 92, etc. as I explained.

mMooIN anticipates an alternate solution to his difficulty (and negates it):
- SRIPING NDYY 13129) DINY 219 Y

And we cannot establish that the 7R™W7 7912 RPVIY W2 became ¥nv through
touching 7129291 2%, which were a "1 —

' The reason why the difficulty is (only) according to 9" will become apparent shortly (see footnote # 7).
29" claims that the w3 (which was IRmYA 7912 Xnw1) touched a RN™MXT (3w) AxMLA 79 and it became a “w*>w. The
question is what *1w did it touch? It cannot be 223 if we maintain 22 Xvn 791X PR. It must be that this 2w2 touched
W TRYN.
? 7"omn is not teaching us anything; initially this 2w was a 132777 " (besides being a Xn»MK7» w5w) and by
touching the "w&" 7w1 it will still only be a 11277 "1w.
* See 71297 21 791 7"7 MoON (on this TMY) and RI°KT 7"7 'O on R, 7. See ‘Thinking it over’ # 1.
> The (>1w) 7291 %y (since they are not Y1) can be Xnun the w2 to be a Xn»x7n *w . This is the alternate
answer NMooIN offered previously (see footnote # 4).
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mooIn rejects this alternate solution:
= 9 PYUNAY 153 299390 6\’)‘11‘,7"! NN 23NN N (x5 97 )PINT 72 P92 S¥aT NIN YIPY WY

For %' is the one who queried in the second P25 of %7 noon, whether nam
wps is sufficient to be able to count by 711221 2%V a "N K-’

Mmoo responds to an anticipated difficulty:8
= NDIINT ANDIV 19) WIPY ¥ UPIT XM

And this which ®'"% mentions RnN99IRT IR 79 -
= NIINT ANMIV 1992 99N ON 199N 9199

He meant to say that even if we assume that 7"on1 is discussing a mNRIW 79

RNMMINT, where all agree that it is impossible for »" to derive his ruling from 7"omM,
nevertheless -
- TPWIns 9391 WX 5397 DN SWINDY KON

We can explain that the term 277%937%, which n"9 used was referring to the 07727
of """ R"".

mooIn offers an alternate explanation:
- 1093395X 5399 1959 NNRPIND NRNININT 0PI 9123 ON

Or you may also say that 7" mentions Xnv7K7 7820 721 in order to establish the

ruling of 7"or1 even according to X' -
- W MUY 99 19297 SWIHY 1DIAN YN Y29Y YaN

6 wpi nan literally means the dearness of wTp. Even though 71112 0¥y are not objects which can be axm1 22pn
generally, nevertheless 711291 2°¥y of Wp are XMW 22pn because of WTIPR N2°M.
" The issue is whether 711291 0°¥y which became X (because of wmpn na°m), can be X»un others and have the same
process; if the o'y are a WX (they touched a W), whatever they touch will become a "1w, etc. See end of NN
11277 "1 71 7"7 (TIE footnote # 33 & 34). Therefore we cannot say according to 2" that the 7w3a was &bl by ¥y
mm, for 9" is unsure whether 711271 °%¥Y can be R1un anything else. This is why Mo initially mentioned 7"
(see footnote # 1) for according to 2" this option of 711271 0°¥y does not exist.
8 o1 disagrees with the suggestion that 7"on7 is discussing a 73277 X T2, and »"A derives his ruling from 7"on"
since we presumably can compare 11277 M0O°X to 11277 ARk, Rather "1 maintains that we cannot derive 10X from
XM, and there is no way which 1" can derive his ruling from 71"on, but only from the ruling of (11¥°5% ' and) "
v, Why was it necessary for 9" to state that 7"on7 is discussing a Xn*R7 a8mw 721 (and that is why n"1 cannot
derive his ruling from him), even if 7"on" is discussing a 11277 78 791, nevertheless 1" cannot derive his ruling
from 77"omn. [Alternately; %" maintains that "9 derives his ruling from >"3, who maintains that if the 7m0 (even
770 AN) s going to waste, it is permitted to be Xnvn this 072 7Y AN, It is obvious therefore that a whw
13277 (which is going to waste) may be made a "1v. Why therefore state that we are discussing RXnN™MX7T ARMY
(indicating that by 11277 it cannot be burnt), since we are following the view of *"1 that we may be Xnun even 7170 if
it is going to waste.]
? This means that from the dispute between *"11 X"1; we can derive the ruling of »"1 from the view of *".
19 %" is stringent and maintains that it is not permitted to add additional Xm0 to 72170 when it is 132772 MK (and
similarly by w7pi7), however since ;1"017 is discussing N>R Riav w3, it is permissible to add to its xnw. See the
following X713 on this 7my. See ‘Thinking it over’ # 2.

2

TosfosInEnglish.com



RNTIRT ARAIW 721 7"7 '0I0 R, 291705 .7"'02

However according to "% who maintains that it is permissible to make even a
71297 M9 to a MW, he can agree to 1"on even if the MW was 13277 APV 7912 KnwI -

TYWINY 229 DY 199299 NN 229 9999 19297 9DINX NINY MY YYa \Nnn 19
And similarly by nww wwa y»r which is 133972 790K may be made Xnv, so 2'"'9
derives his ruling from the words of >''1.

SUMMARY

According to "9 the case of Xn»RT ARV 7912 RPVIW W2 is (according to the 7"
DO RPN P2IR PX) where it became &nv through 1"pwn before the 771 of %0197 92
aonn Ao Ppwn Rnun "0 He mentions XN»MRT to say that even if n"omM is
discussing Xn»7X7, we still can derive n"7 from "9, or he says Xn*»7XT so 7"0mN
can even follow the view of X"A.

THINKING IT OVER

1. "1 maintains that 7"on7 is discussing a Xn*7IX7 78w 791 and according to the
DI v PR PR 7"n, the w2 became &nv through rrwn.!! However n"1 maintains
that 2 X XAV PPWHA DRIV is 131277, so how can "1 maintain that there is a case of
RN™MRT W oW (if we maintain Y9I Xnbn 99X 1R, according to n'™)?1'?

2. It appears from noIN that X"7 would not agree that we can add nXmw to
something which is Xnv only 112177."° However all we find (in our X73) is that X"
does not permit to be 717N &nvn which is 112777 70K, or is going to waste' (see
the X713 shortly), but perhaps he admits that if it is 7312772 X0 XY, it is permitted to
increase its level of xmM?"

' See footnote # 4.
12 See x"wmn.
13 See footnote 10.
' The case of AxmY PoO.
'S The case of m.
1 See Hxmw 127,
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